1. Jack has a table with 2 drawers. Feben has 2 tables with one drawer each. Who has more

drawers?
A. Jack
B. Feben

C. Both have an equal number of drawers.




Try Again



Correct Go to the Next Question




2. Greg has a jacket with 2 pockets. Sylvia has 2 jackets with one pocket each. Who has more

pockets?
A. Greg
B. Sylvia

C. Both have an equal humber of pockets




Try Again



Correct Go to the Next Question




3. There were 2 boys and 3 girls in a classroom. The two boys individually collected 3 kilograms of
sand. The three girls individually collected 2 kilograms of sand. Who collected more?
A. The two boys

B. The three girls
C. Both groups collected the same amount.




Try Again



Correct Go to the Next Question




4. Johanna's family had 2 big cars and 4 motorbikes. Each of the 2 big cars transported 4 people.
Each of the 4 motorbikes transported 2 people to the market. Who carried more people to the
market?

A. The 2 big cars
B. The 4 motorbikes.
C. Both the big cars and the motorbikes transported the same number of people




Try Again



Correct Go to the Next Question




5. Jeremy lifted 2 buckets that each carries 5 liters of water while Greg lifted 4 buckets that each
carries 2 liters of water. Who lifted more?

A. Jeremy
B. Greg

C. Both carry the same amount of water




Try Again



Correct



